2011 (H23) 45
IRICHOMC S0+ 0

B1EAR?Z/ > [BEETALYERREH]

B 5000 +5K — -~~~ <<~ (R
B 10000m*10K --------- e 2R—3
B /\—DT5YY - 3R—3
B JILISYY - 4R—
B JLFS (100K-250K) - - - - oo 5R—3
mEXELURFER) - - - GR—

. ﬁ%‘%ﬂjﬁg ———————————————————————— 7,{_:}
u 5‘/:/7'@ H *&%liiiﬁﬁbf:b\ P - gR—

web T ICHNMCEERD IR K WEEE
ERR235E12H27H verl.2




2011/12/27

9A28B|[EESkmT-T [k 7#Z=3>F 22:50

5000m & 5kR Xk 20114 (*FRE234F) 201146128278 ®R#=
201 1EE(H23)RR M2 A L HEAE20104F (H22) NZ b 7 1 A

B 4z| HT X £ 4 EZ F 2 4 L g & JIEAE E F 2 4 L
1 4B138|ER5kmT-T [lUO A 18:13 ! |&l RFE 18:55
2 4AB138|EBSkmT T |hlg 18:20 2 |RE BUA 79:14
3 | 108268 |KESKkmT-T |#A &R 18:38 3 (A #A 19:18
4 3H9B|EIGEFE i BA 18:47 4 | BA 19:27
5 128148 |EEBSkmT-T |RBi &RE 19:13 5 |RBi RE 79:29
6 9H28H |ERSkmT-T |REZ BA 19:31 6 |sEM —& 19:57
7 228 |(EBSkmT-T |FER IE#H 19:43 7 |B5 & 19:59
8 328 |EESKkmT-T |BiE & 20:05 8 i = 20-15
9 4B138|ER5kmT-T |iFFHF =it 20:08 9 | KARBHF 20:20
10 1A9B|[ERLYOAY [T —F 20:10 |BF1261 10 || — 2021
11 8H28H |#HiAE R FH EZ 20:11 |24t /127 1] |EA EZ 2024
12| 6A29H|RESKkmT-T [ &I 20:34 B 12 |BRA ZHIE 2028
13 4B138|ER5kmT-T |RE —f 20:36 BE | 13 |EFE 1E## 20:32
14 3A2B8[RESkmT-T |HA S8 20:49 F | 11 |RE BE 2049
15 | 3A30B[RESKkmT T [ARREHAF 20:50 & [ 15 |F1H 18 20:49
16 | 2828 |EE5kmT-T |HIH B 2055 :é | [ [t Bx 2051
17 2B28 |ERESkmT-T__|¥iF o 21:02 e[| []#m we 2107
18 68298 | EE5kmT-T [dLF9 & 21:05 i | | 18 |#x@A BE 21:21
19 68298 |ERB5kmT-T |[fIF =IF 21:15 fh | 19 |fFE —IE 21:24
20 | 4A13B[RESKkmT-T |& HX 21:20 U | | 20 |BH BHF 21:32
21 2A28|RESKkmT T |F#&E —IF 21:23 Cl| |[z|mE&E &= 21:37
22 | 12A 14| ERkmT-T__|Rfk &R 21:25 g | [zt == 2140
23 | 12B14B|ERB5kmT-T [#8H YF 21:30 ol 23 |48A Y F 21:47
24 | 12R148[RESKkmT-T BN BAI 21:40 ? L 24 |HP EBEF 22:01
25 | 128148 |EB5kmT-T |HE ®BF 21:48 B 2 |Blm A 2213
25 | 12B14B|EBSkmT-T [RE ZE 21:48 26 | BBE 22:33
27 | 10A26B|EE5kmT T |HH =t 22:09 27 | RAR ER 2248
28 3A30H|EESkmT T |[XKAFE FX 22:12 28 |BRO IEBEA 2251
29 3H30B|ERSkmT-T (S HBHE 22:13 29 |f2H HERER 23:03
30 2B28|ERSKkmT-T |E%# 17—8} 22:15 30 |=% 5F—8 2320
31 3A30B|ERSKkmT-T |k =— 22:27 31 |4 R 2346
32 9828 | EBRSkmT-T |[iFEE E—E 22:31

33 3A308|EESkmT-T |(HAh EF 22:38

33 | 10A26B|RESKkmT-T |f8H HEXER 22:38

35 | 11A16B|EESkmT-T [/N#k 3AFD 22:46

36 2B28|EESKkmT-T |k EXEF 22:48

37

38

39

40

41

42

128178 |xEmR<SYY | H#— 22:54
328 |ERBSkmT-T | & 23:01
2A28|EBESkmT-T |IkA IEBA 23:05
6H298|ERESkmT-T [TL =& 23:15
3828 |EBR5kmT-T |(Fth BEF 24:10

43 | 12B14B|ERBSkmT-T |NE BF 27:02
44 | 108268 |EESkmT T |AfR BF 27:28

— — REEMANSARITIE !



10000m & 10k N
ST x;; _ %011E(EF5£23E) 20114128276
1 11H208|NBE—ESF LIFVY 10k408%LL E IhNE Ei? 244 =
2 1B238|8#H T/ B N—7 607% LA L J im’“%_ T
2 s 2 Lt 10|:/<—xﬁ RAL y[‘é 38:21 FER14L
JEi NI 353 :
4 5A8H|[REHm=VIEYIY K& |60~69mDER10 2 e
5 5H18H|EER#EE S 10k&—x%n s %«E T
6 1A268| REHES 10kR—R 3E W‘j Hﬁa A1ds
7 AF29B MR TA4RTVYY 10km iiﬁ 751\ e
8 1MA27B|REDETSIY 10km 13;;;. e N
9 48298 iR T4SIV 10km ’ﬁﬁ j = e EaLL
10 5A18H|ER@EE = 10kR—RFE L"ﬁ %EE‘ oz
11 AF29B MR TA4RTVY 10km ;‘ﬁ’ = £ Ta0e
12 4B20B| REHES 10kR—RFE :%EZ E‘% a1
13 2A9H|ERHEES 10kR— R 3E TJT% %E T4
14 2A9B| EE#BES 10kR—RFE o IEET sa0i
15 6H15B|ERHZEES 10kR—R E e e
16 1MA27B|REDE<SYY 10km L& Z e
17 | MA271B|FEDETSYY 10km e :)nx AT
18 1A26B|REEBES 10kR—RFE ﬁf = ot
19 2A9B|EEHES 10kR— R 3E m*% ;'IE'E o
20 1A26H| REBES 10kR—RFE e ;Jh to5s
21 5H18H|ER#EE S 10kR— R 3E T 613
22 | 10823B[(RA4T5VwithPv X [10kmBF 22 E i 650
23 615 REBEES 10|<:n<—720t~59%2 i Tt
24 SHIH|IEE#ES 10kR—RFE e E? e
25 2F9H|ERHEES 10kR— R FE S oy s
26 48208 EER@EE = 10kR—RFE *mﬂ‘ o 4750
27 SHIH|IEE#EES 10kR—RFE %W Tk 1500
28 SHIH|IEE#HES 10kR—RFE T 1620
29 SHAIH|ERHEE S 10kR— R 3E E’E‘ = toai
30 5A18H| REHBES 10kR—RFE S yi'_ﬁﬁ o0
31 SAIB|EEHES 10kR— R 3E E:F E’? 1556
32 5H18H|EE@EES 10kR—RFE i Eﬁﬁ’ﬂﬂ 015
33 AF20B|EERHEE S 10kR— R 3E jgﬂ ﬁ:‘:& 1020
34 5A18H|REBES 10kR—RFE o % 1559
E_ .
35 AF29B MR TA4RTVYY 10km = Sod
36 SHIH|IEE#ES 10kR—RFE B S040
37 4F298 IR T4 T 10km ig E{H £ 22:30
38 6 15| REHEES X— L 5 =
39 68158 EE%%E; :gti—ii o 5500
40 48298 iR TS 10km :IET £IF 60
41 48298 IR T4S5V 10km :fggfgg

5=




IN—DISYEL—X 20114F (FRL234F) 20114E12 8278

JEfL (BT RE4 2 7l E F 24 L B =
1 118138 |ERadius—s1rwsvy [/Inv—D4055 L L |/NER =T/— 1:19:49 142/71

2 [1B238 |B#L T EE/\—7 [/\—240~598% (=& Ba 1:22:32 2142/1310
3 [11B138 |g—mE&EsT1<5vrn—o|/\—7 N 1:22:41

4 |10H2B |@@HIIVY 60l E n—7 |3 RE 1:25:18 251/-(B 2 $7)
wx (11H278 [WABEANSHNTS [/\—DT55FLLE |BIL T 1:26:17|34L/76

5 |2B6H HE/N—T IN—7 o BA 1:25:32

6 |[1A30H |RKERMER/\—7 ERBEFDH 55 & 1:27:47 14841

ook [11H208 |JIIFE—EX LISYY [/\—DJ60m L E B RE 1:27:58|2437 /67
x:+ 128200 [[AIAERFHFISIVY N—TBF608 L DB B TE 1:28:10[ 143z

7 [11B6H [RITRISVY IN—DDER e g 1:30:09 133131/4331
8 [8H28A |[mAmEvS L 2EAR[W 2T T sy ik 1:30:17 112/147
x+ (10168 [UhiMiEEEYIVY [\—TJ8F B T 1:31:49(6847 /779
9 [2A27H |EB#HEO—FL—X [/\—7 RE 22 1:32:07

10 |[11A6H |HL\OEXLUI5Vy |N—DJFHFDE (#H YF 1:33:03 1241

11 [1A30H [KERWER/N\—7 ERETOH  |NE w2 1:35:18 28941

12 11A6H [|iRINITR<ZYY N—DDER AARBFF 1:38:18

13 [10B28 |[@@FH<5V/v IN—DDER AL &7 1:38:33 -

14 [1A30H [KBRWER/\—7 EHxFOR ([BH BIF 1:38:43 314i

x+ (10168 [UbhMEaEEYIVY [W—J8F AL &R 1:40:40{17142/779
15 [1H30H |KERMR/\—7 ZERLFDER Hp EF 1:41:14 44431

16 (4838 BHIN—T IN—7 TR &— 1:41:45 17341/671
17 [11A68 [EINHRISVY N—TDER A {E& 1:42:02 419431/3710
18 |1A30H |RKBERMmER/\—7 — R ZFDER SiE BE 1:42:22 50131

19 [1H30H |KERMR/\—7 —REFOE  [BR B 1:42:30 5241

xck 118278 |EAAESNHLNTS [/\—I558% L E FR E— 1:42:34(1031/76
20 |1A308 |KRBRMmER/N—7 —RBFOE  [{EH MR 1:43:35 87141

21 [1B308B [KERHFER/\—2 — B FDEB = F—AR 1:44:37 9601iL

w0k (100238 [ RATTYowithD¥ X [/\—240~598% L £ f2 H i RER 1:47:22|27042/1077
wkx (100230 [ RAT5UowithO¥ X [/ \v—D60F% LI E =2 57 —BR 1:48:02|304:2/213
22 11868 [=AEEBYE—XI5Y2 |[N\—J DI i #E— 1:51:04 851i2/280

FE) k(X tEHhUREA L

REIL. ED
L—RIZH &S
e ?

e 4
—




2LV XAk 20115 (SER234E) 20114E12827H
Bz ol A&=4 A = F BALNN) | & & B &2
1 | 12A238|g23mmHNI=RSVY |RTVYVEBF N 2:51:38 |- BEH (o)
2 [10H30B|E 1R KER<TIV |BEZEF EE & 2:57:19
3| 12AB[FE2RERTIVY  |ITVY INER E— 2:57:29
4 [ 12B18B|HFFRSY 7TV ZE BUA 3:00:19
5 [ 10B30B|E 1R KRV |BEEEF £I7 FOE 3:01:43 JTNTTREEE
6 | 11H238[BAL<TSY> EHRDER g —5 3:04:10
7 3H6H|ABCEILYSYY REREF o & A 3:07:10 |1724i1/5862
8 3A6H|ABCEILTSYY BB F B T 3:0758 [19241/767|EHC#H(0").~
9 | 2H27TB|HEIIVY V% M BA 30832 [(BHE2#H |
10| 1A30B|KREEEZFIIV|RIVY BES® % 3:10:51 (166 eAR R
11| 128188 (=T <IV #wH YF 3:12:02
12| 12188 (<Y V% 55 & 3:12:04
13| 11 B238|fEfLU<T TV BEERDER WAt IEA 3:13:05 A=A r-N—1%
14| 128188 |fERFI TV IV RE SE 3:13:19
15| 11 B23B|EHLU<T SV EHRDOER 2@ B 3:14:47
16| 1A30B|KEREELZFIZVU|IIVY BH HIF 3:16:29 (248 AH+ETSR
17| 3B6HA|ABCEILLTISYVY BB F SIE SIE 3:19:04 |2801i/767|NTTKx
18| 12188 (<S> IV M OER 3:19:26
19| 2H208 [#EEEBREFISVV[(TIVY KRR —K 3:19:51  [133ft
20 | 11 B23H|f@FL<5YY EHOE WA E8 3:23:31 KaEREmE
21| 11B6B|EETIVY IV P9 & 3:26:33 (2321 16941
22 | 128 18H|BFF=R SV IV R ZEE 3:27:40
23| 3AB6H|ABCELLTSVY BHREF I EXF 3:31:19  [3241/138
24| 11H20H|#E~<SYY V% AL &7 3:33:33
25| 11 B238|@BELTSY> EHO Hy EF 3:33:48
26 [ 100A30B|FE1EKRERTSV |EFELF BnE B 3:35:08
27| 11H20B|#E<ZYY 23V HLE ®BF 3:36:31
28| 10A30B|E1BIARYIV/ |BHEBEF WH #E 3:36:41
29 2R20B|RMEE<SVY — iR B F =2 F—ER 3:36:51 (4381
30| 128 18H|BFF<R SV IV S BE 3:37:30
31| 128 18H|BIFF< SV <IV f2H  fERER 3:39:50
2 12A1B|F2BERTIVY  [¥TVY 1A #& 3:45:53
33| 2A20B|RMEE<SVY BHRXT FHth BBF 3:46:30 [55(
34| 11H20H|#EISYY IV TEE fE—8R 3:48:16
35 11A208|E<SYY <IV Bk & 3:48:22
36 | 11 B23H|f@FL<ZYY EHOE =48 ER 3:49:42 KaEREmE
37[10A30B|F1MXERTIVY [—HEF AR EBEF 3:50:49
38| 3H6H|ABCEILLTIYVY ExBEF "t BE 3:52:48 |5501i/767
39| 11 B13B8|EEEN<IVY <Y 2R BA| 3:54:00
40 | 10A30H|E1BIKERTIYV |BEHEF A BA{E 4:07:24
41| 2F8208|RMEE<ZVV — kB F RO 1EBA 4:14:16
42| 3B6H|ABCEILTSYY REREF EFR E— 4:19:53  [3369f
43| 11B6B|ELETSYY S M #oF 4:21:01 [1384% 11841
44 | 11 2385 U5V EBRDER L 4:23:17  [4:23:17
45| 11 B 238|@@&<35y EERDER w =FK 4:23:17  |4:23:17
46 | 10308 |E 1B KRSV |—HRBEF AR fE— 4:24:21
47 10A30B|F1EKRRTIVY | —BEF U I 4:56:52
48| 10A30B|E1EARYIVY |—HB&F R B¥ 6:00:13
X H24E11A258 (B) KIRY SV - MEYSYURBBERE | | &~E5F %

_4_




100kILES T35V EL—R 20114F (R 234F) 20114128278
I | TR RE4A i =B F 24 L B E-1
1| 5A298|Z U9 -1=LVZ2<100k 34&ERIE k- RE - AR 7:24:30 ML/ 17F—Ls
2| 5A298|Z UV ==LV =<100k 3% ER= B3y -EA-EKR 7:25:18 265 /17F—Ls
3| 5H298|A VT 2LV <100k 34 ERIE AAR-BH-RE 7:53:56 Mg /17F— L
4] 10816B|UAF+IIDILESTSY|100kZF40m A |14 &AIF 8:48:18 12/127
wokk|  5H298[Z T - F2LV2<100k ZFDER BF H(F 9:07:33[ 14
5| 1816B|E#H 5100km B F100km i B2 9:11:42 B F o4
6] 5H298|Z UV -1 2<100k BFDER 55 & 9:45:48 48431
7| 5A29B|Z U9 2LV 2<100k BFDER ERE IR 9:56:33 54431
8| 10A16B|WA+HIIIIILESTSY|100kEF40FEK (MM V) 2 10:04:32  [8fi1/127
9] 5H298|Z UV -F=LV =<100k ZFDE RER —K 10:14:07  [3f%
10| 5B29B8|Z2 U9 -1 2<100k TFDE Hb EF 10:17:57 |44
wek|  5F298|Z U 72UV 2 <100k LZFDER s vz 10:23:31|541
11 58298|Z U9 - =L <100k ZFDER 0 A 10:53:25 |74
12 6 A5H8|7K#8100k 100k D EB Nk 57 11:00:00
13| 108168B|Z U3 - =L <100k ZFDER Sig BE 11:46:42  [10f
wk| 10816B[MA+)9ILESTS5Y 2 [100kE F50m 4K S RE 11:50:24(3142/127
14| 5B29B8|Z2 U9 =1 Z2<100k TFDE AR BF 13:51:12 [244%
250k LT %5V
IEfsz | HT RKE4 E 5l =® F 2 4 L i %
9/28 ZLBRO2011 ILhS o Do
" (Fw) w5 |BE YF 323N |ag)
29H 7B
5H2H 250km B®H YF 40:25:31 304
~4H FEEISIZVIRE "l BE 47:32:57 1914
140km RE 22 18:58:51 20431
e [EeERMFY—SY 250Km A YZF 34:46:00  |8fi/-
FOh, 2ILES-FLAIL
22~238 [BARLUEMAL—X 71.5kmm BEE &= 14:05:08 4681:L/1725
B % B | 1|15 (71.5km) : e
g, s F1AT-Y45km | F2RT-Y'90km | #& /B4
7H23H 20;13&:’%'2'“3 #©H YF 4:48:23  [11:12:34 16:00:57/30f%
~24H 45km+90km Heh E 5:00:23 11:54:27 16:54:50/484%
= 5:16:05 13:14:12

pfr
%

203 -2W24700km=35 v

SATHACT
SEIE
o

18:30:17/804%1

g "3‘ o - Tl .

Sty
[y =
;

2071




&2 &L EWTEI—R)EL R

BEFEH

20114E12H 138 |

Bz % . BiR N =
> 2. 5| esmz05) = H %
1 [A20.7.25 |61 |plad 1B &= L H (4E*F5709J‘)E~|J_|] (4B5R304))
i z3 0: . P . . . X «— =
1 H20725 FFOIE, [PIF T 056381 04650 143301 116261256561 02621 ] 52617 T
3 [H15.7.25 |&56[m |[EfE % 33331 Z_Eﬂ;; ; 341111152
4 |H16.7.23 |Z557E] [%CHE i 34200 |2 1 o
5 HI9727 ,ﬁgo% %m s | 77 57 _ 348:35 |=E 1 !
.7.23 |5563 M 5, [1:00:22] 0:55 61 — 357:39 |52iE ! !
e . - B 41 - . o . . - = - JCAE - .
EALTEREVAL (710N 5 S N VLT Bl E R | IR
L0 s FhE  [1:03: 00: Ty oS :36: 3553 | 412:03 |2 ! | 9=
19 H157 25 %56@ TR B0 3:08| 1:00:26 | 2:03:34 [ 1:35:21 | 3:38:55] 0:33:39 | 4:12:34 %%' i zﬂg;?%miﬁ
1? H18.7.28 | S50 [tz 'k 1:07:45] 0:58:07 | 2:05:52 1- 4:14:12 |SERE ! ! :
= :12.3.25 Z56[ [FrAk g IR — :05:52| 1:37:25 | 3:43:17| 0:31:42 | 4:14:59 |5EE ! !
7.28 |59 |HA 22 | 1:04:24 21931 e
= s V4 0:55:29 | 1:59: 29- —5. LA JERE! !
Lpzs gy e B —ft 0108 19200 18908 14707 9400 L0) AR08 Rl L
v 7.7.22 %;58@ {.“—:* fip— 1:00:40 2:08:55 1:3 :11 3:48:47] 0:33:55 | 4:22:42 |52FE ! ' |¥)=EE!
DR L Lt Wi % AT o g a0 LR Aass SEE ! ! '
E) 1:06: 02: 00- o 2 O9: :26:27 |52E ! -
181H157.25 [556m A h 7 06:47] 1:02:54 | 2:09:41[ 1:42:03 [ 3:51:44] 0:35:13 | 4:26:57 Z—E%;' : 1
19 [H16.7.23 |&570 [IFF L. 22715 [ 1] 027/1152
20 [H23.7.22 [5E64M PR itdst o7 aa =51
= t [1.04.42] 1:07:54 | 2.12:36 | 1:43:00 | 3: 4:27:48 |5E5E ! !
S P e
= b }é‘{ﬁ( 104 01: = - : : : 3 42902 = [ T = -
gi :15.7.25 %560 [ il TR 04] 1:01:06 | 2:05:10] 1:49:58 | 3:55:08 | 0:36:18 | 4:31:26 %EF?&H—E% e
- H:g;gg ;5559@ BA = 1:10:32 [ 1:01:11 [ 2:11:43] 1:44:06 | 3:55: 4:32:00 |BFRESSEE
TRITEREE ,z;gg% %g %ﬁ O e a0 oD 9978 200 BRSEE
= s SN 1:06: -04: : - - O/ 4:34:00 H%Fﬁ 52
27 [H16.7.23 [5857[0] [Rfi %H% 31] 1:04:40 | 2:11:11] 1:52:46 | 4:03:57 | 0:38:40 | 4:42:37 H%F:ﬁ?\tgi
25 S 1.2 %2% Jlf]% I 4:44:24 RIS
S e 0 [1:11:26] 1:03:54 | 2:15: - 4:48:00 |EERASIEE
sollz2 126 [ 0El | A &£ [1.1118[ 0625 2 T5720] 14640 40400] G560 50000 [ 2
L2 0T L i 179:0011:09:28 | 2:28.28 | 21432 | 4-43.00] 0 18| 5:25:00 [t e
32[h207.25 2610 [RE B 28 | 2:28:28 | 2:14:32 | 4:43:00] 0:46: 3
BF |1:12:50] 1:06:13 [ 2:19: : :46:30 | 5:29:30 [EERstE
33|H20.7.25 |Z61E /N BY 06:13 | 2:19:03 | 2:19:13 | 4:38:16] 0:51:44 | 5: =
= A % | 1.07:00] 1:10:00 | 2:17:00 | 2:26: 16| 0:51:44 | 5:30.00 |BsRAsEE
34 [H20.7.25 |Z61[H [#aH {é?ﬁﬂrs :00 | 2:17:00| 2:26:00 | 4:43:00]| 0:54:0 :
== 1:10: 04 qE. 9. :54:00 | 5:37:00 |F =
32 :;9.7_27 T ’1_{’0’;55 1.04:51 2.’1_{’5’.;16 1:52:17 | 4.08:03 o ?Eg;ﬁ
3.7.22 |%64E [II1_&H [ 1:15: £ 4:10:00 & -
= 15:37 | 1:04:25 | 2.20:02 | 1:59: *kk |85 HET|RAER
Seliio s [Boim S wE [ 111.28] 10637 s I 47141 s [ HET =5
i 22 [564lE [@E BFIF [1.12.51]1:05:28 518191 207 4:21:41 ok BB HZET
7.27 |560[1 |Fth HAF ?? 15200 :07:00 | 4:25:19 o [sEEET
40|H18.7.28 |59 [ | 5 11714170509 [ 2.2, 0 *okk o 5B BET |RER
411H19.7.27 856001 [fE) & - 1.11:45] 1:11:37 212§;§3 9009 o (52 RZET
42|H20.7.25 [5E61[0 [P B 122031 12125 | 2. :22 *okok o [5EBZEC \aETET
13 :18.7_28 EXLEIRS EL £ ’? 2zl .’4>3’.>28 skkk ksksk 55BZET = <
*|[H8.7.25 |& = = 2
54“2; S— —— — 3';:;:7 1gt5'$f e
SHO—A & F ; ~—T5= :36:47 |5eE ! ! 11444
1 0 B 713 1 1=
ARTERET %ggi E?I%IL%E(@ 050104357 1:37.58 Eﬁf@?‘:&)%gaéc: = 5EE3-2]5/328
g:ggl% ELRIBIE ! —{t 10301 O:gg:jg 12212 ﬁif@f:&)&é‘ﬁ'@::l:! %ﬁé ELR 74_/_
6Hz1.;.25 55618 [fRA 2% = 1648 5:.5:—7\5%&8&)\5(*0‘)/ T EEEARPNEE
s H21'7'§i Eggg Pl |1:06:44] 0:50:23 | 2:06:07 Fﬁa{a)S-fF HI—A SEE ! LAE—
JEalizd o l[fik % B [ 1:07:00] 1:03:00 | 2:10:00 | ~HOG HC L, bl 86/~
5 H21'7-§2 %gg% &L 1:07:55 ] 1:02:40 | 2:1035 “EO)TT&bS':'E-GE”:! L AEN Do E |
T0[R217 24 [=620] %%_ﬁi? 11%82 }:07:50 2:17:50 Eﬁf@f—&)S‘SEl‘GE:J_- i SEHI—R :
ATl :19: :03:22 | 2:19: =5 = === - 7L !
Liln217oe |SE7 e SF [110551 10817 1912 %i%ﬁ?@%%iiﬁi ol
13 15755 e 133110606 | 2107 Eﬁf@f:ﬁ)SéEﬁ:lgi & :
5H22-7-2§ Egzﬂ BE @#F |1.15:35] 1:04:45 2-20:20 |l % SEHI—A T !
TETPARRRE Sk % - [11701[1:0420] 22123 | | DIHSGETHE ! EE M E
7 H2z 122 %gg% S B | 1:15:35] 1:0651 | 2221:26 58E—X
18 H22.7 23 =T 7tth HA 1-20:23] 1:02:26 | 2:22:49 |FREXDI-5 58 Ba—X
s T o 12263 [ Fh [1:23:36] 1:05:57 | 22033 | 58 L ! BRI |
° E‘)@xf —%@‘% IF PR | 1:23:32 ] 1:15:56 | 2:39:28 5EHI—X
: SMSREEL. TRLUNESELT S, ~6- 5EHI—X



20114F (ER23 ) BB SHFESVF VY
[1H58B~12814B9%T£49H )

F—ANEL / EF F—ANEK / Bft

[i=td = F £ H F S
[EES %”“E’E 48 1A58[ 18
2|El5 7= 45 1A8H| 15
AEES &? BR 45 1H12H 23
4R E 44 1198 19
5k EE 41 1H26H[ 21
6| IF 45 40 2H2H| 21
7|Fth  BBF 39 2898 23
8| AAR EX 38 2H168]| 22
ISiE MBE 37 28238] 17
10| =& BUA 36 3H28[ 22
1MHAP E 35 3H9H[ 23
11[@FEE —E 35 3H168| 18
11[feA #ERER 35 3H238| 19
11|10 #E 35 3H30H 22
11t =5 35 AB6H| 17
16|43 YF 33 48138 26
16|k FIR 33 48208 23
18|:5f% =i 32 4H27H 9
18[1F &k E— 32 5811H 6
20/ RE —iX 30 58188 21
21|l EF 27 58258 27
2\#HE #BF 26 6H1H 6
23BN BA 25 688H[ 27
24|8H HAF 19 6H15H] 23
2413081 B A 19 6H228] 30
26[dtF (& 18 6H29H 21
27|46 E=2F 15 7868]| 14
28| H X 13 78138 20
28| E— 13 7H208] 20
0[H  #IF 11 78278 28
0|/ EXF 11 8H3A[ 32
2| Ak BF 10 gg108|[ 27
32 7:91{% H#lF 10 gg178] 23
KAN=E:IN 10 8H24H 24
35|Hi%F 2 8 8831H[ 20
35| fE—ER 8 9878]| 28
NESS R IE 6 9148 29
37| B3 ThE 6 9821H 19
39|#ALL ¥ 5 9F28H][ 27
|FE BE 5 10H5H 8
41|5%F X 3 108128 25
41|88 HF 3 108198 26
41|58 ER 3 108268 21
41| Rk € 3 11H2H 19
45|38k O IEBH 2 11A98] 25
45(¥H {LM 2 118168[ 21
45 = 2 11A30H] 20
45| K A R Bk 2 12H7H[ 25
VEE & 1 12814H 20
49 Wz 1 85 1040
49[A R 1
49|/NFK BhEN 1 OHMERZE - T.
49|H%F —= 1 BEXICRYMELS - - -,
49 H Eth 1
49|H3xX SEIF 1 ORE#IIA R DBEMN D,

3t 554 1040




20114 BIEERLE

GTESHIRD|

IN—7

RLEROWIL. MY BHVE LD,
TR EJ

XY 20114£12 8278
JEfz K B #E 1B B 2 fE | # £ | F Bt = E_=
1 EE %z 25Uy 3:14:59 3:12:02 101.536% ER !
2 By RE |RTSIY 3:09:59 3:07.58 101.073% E %! !
5000m 0:18:59 0:18:47 101.065% SERL ! !
3 o BA 10K 0:38:59 0:41:29 93.973%
_ N—T 1:24:59 1:25:56 98.894%
4 | BH JEXRER [R5J> 3:39:59 3:39:50 100.068% ;%%' !
=L EIGES Hi 15 Hi 5 100.000% SERL ! !
5 | ®E —f [100k Hi5 Hi 35 100.000% ER! !
AREEISY 5T 0.000%
AT i 8EH5x E%E 100.000% LA
- 100k 9:59:59 H 0.000%
6 LR B LZLy BREEL - 0.000%
ERIVENY 20{3 LLA KIE “RFE”
7 B & 100k — 10:59:59 11;00:00 99.997% BL~W
8 T it |EeE eIl o/ o] 3:10:19 3:19:35 99.866% HEL~LY
9 FH = |5k 0:19:59 0:20:11 99.000%
5k 0:21:59 0:22:13 98.950%
10 | KAR ERX [10k 0:45:59 0:49:15 93.367%
_ 2o 3:59:59 RHGE 0.000%
| Er% X5 3:29:59 3:33:48 98.215%
| 12 | =24 st —Hf [YSYY 3:29:59 3:36:41 96.908%
13 | i mE X2V 3:39:59 3:48:22 96.329%
B BETRSIY 3:59:59 RHFE 0.000%
a8 o |[XTJY 3:03:00 3:12:04 95.279%
4| BB E o 85050 | 9:45.48 92.179%
15 | FH BF |¥o5Uy 3:45:00 3:56:45 95.037%
16 BRIy 2:49:59 3:00:19 94.269%
17 + [XoUY 3:29:59 3:46:30 92.708%
18 | Jifx =0 |10k 0:38:59 0:42:15 92.268%
N—2D 1:30:00 1:38:18 91.556%
19 | RARBHTF 2o 3:20:00 RHGE 0.000%
(20 | BE 22 |RoJ 2:55:00 3:13:19 90.525%
IV 3:50:00 4:14:16 90.456%
21 RO LED N—"D 1:40:00 RHFE 0.000%
<o 3:07:00 3:27:40 90.048%
22 | X ZEE HN—7 1:24:00 FKHE 0.000%
100k 10:00:00 £33 0.000%
(23 | BN Al [RoJ> 3:29:59 3:54:00 89.736%
) 2RIV 2:39:59 2:58:40 89.543%
100K 9:59:59 ESi3 0.000%
2 xoYY 3:29:59 4:19:53 80.799%
X2 3:59:59 6:00:13 66.622%
Eteillme BIENSEE | Ror 0.000%
1:29:59

WE: KARSV_UT#

ENRl: ZFATUV TR

$4TH :H23.12.24




